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dim
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sd_ I
loopslO00

# Keep p-value of RCBD and LSD

p.value.rcbd_array( Him=c(l,loops))
p.value.Isd_array( Him=c(l,loops))

foifl in L:loops)

# Determine treatment

tr_array(0,dim=c(a))

# Determine row blocking factor

If((a=3)&&(sd=5))blockr_array(c(-5.303,0.000,5-303),dim=c(a))
If((a=3)&&(sd=10))blockr _array(c(-10.607,0.000,10.607),dim=c(a))
iff(a=3)&&(sd=15))blockr_array(c(-15.910,0.000,15.910),dim=c(a))

If((a=5)&&(sd=5))blockr_array(c(-4.743,-2.372,0.000, 2.372,4.743),dim=C(g))
If((a=5)&&(sd=10))blockr array(c(-9.486, -4.743,0.000,4.743,9.486),dim=c(a))

If((a=5)&& (sd— 15))blockr array(c(-14.228 -7.114,0.000,7.114 14.228),dim=c(a))
If((a=7)&&(sd=5))blockr_array(c(-4.252,-2.835,-1.417,0.000,1.417,2.835,4.252) dim=c(a))
If((a==7)&&(sd=10))hlockr_array(c(-8.505,-5.670,-2.835,0.000,2.835,5.670,8.505),dim=c(a))
If((a=7)&&(sd==15))blockr array(c(-12.758 ,-8.505,-4.253,0.000,4.253,8.505,12.758),dim=c(a))

# Determine column blocking factor

Iff (a=3)&&(sd=5))blocke_array(c(-5.303 ,0.000,5.303),dim=c(a))
Iff (a=3)&&(sd=10))blocke_array(c(-10.607,0.000,10.607),dim=c(a))
Iff (a==3)&&(sd==1I5))hlocke_array(c(-15.910,0.000,15.910),dim=c(a))
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c(a))

¢(a))
2.835,4.252).dim

c(a))
(&)

1417,

y(c(-8.505,-5.670,-2.835,0.000,2.835,5.670,8.505),dim
y(c(-12.758,-8.505,-4.253,0.000,4.253,8.505,12.758),dim

y(c(-14.228,-7.114,0.000,7.114,14.228) dim

Y(c(-4.743,-2.372, 0.000,2.372,4.743),dim
y(c(-9.486,-4.743,0.000,4.743,9.486) dim

y(c(-4.252,-2.835,-1.417,0.000

D=2k 2)
2N(C-H=CDN)(k_3)

¢(a,h))
0))(k_1)

blockc_arra
blockc_arra
blockc_arra

blockc_arra
blockc_arra
blockc arra

5))

10))

15))

5))

10)

15))
c(ah))

c(al)

¢(2)
3)&&((i-})
3)& & (((i-])

y(0 dim

if)(2=3)& & (()i-))

y(momi(a*b,0,sd),dim

5)& & (s
5)& & sd
7)&&(sd
7)&&(sd
7)& & (sd
y(,dim
if)(a
if)(a

for(j in I:h)

{

if) (a=5)& & sd
y_array( ,dim
mt_arra

for(i in 1:a)

sd1 arra
{

ift (a
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if) (a
er_arra
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y[ij]_u+blockr{i]+blockce[j]+tr[K]+er(ij]

J
J

for(i in La)

{

for(inl )
{
ifUa=3)&& ((I-))=0))(mt[ 1_mt[ J+y[ij])
if((@==3)&&((I-)=NI(-)=C-2))(mtf2]_mt[2}+y{i]])
if((@=3)&&(((-])=2){((1-5)=(-)))(mt[3]_mt[3]+Y[i]])
&(

1f((&=5)&&((I->=0))(mt{ 1_me 1}+y[i])

1f((@=5)&&(((-))=NII((-f)=(-4))))(mt[2]_mt[2]+y[i]

ifUa=3)&&(((I-))==2)((1)==(-3))))(mi3]_mt[3]+y{i]

1f((a=5)&&(((I-])=3)((-H)=(-2))mi4]_mt{4J+[i]

If((a=5)&&(((-1)=4)((-)=(-D))mES]_mef5]+[i]
(i

5) 4)
ifUa=T)&&((i-))=0))(mt[ 1_mt[ []+y[ij])
if((a=7)&&(((I-])=1)1((i-)=(-6))))(mt[2]_mt[2]+y[i]]
if((a==7)&&(((i4)=2)(i5)==5)))mt[3]_mt[3]+y[ij]
(i-
|-
|-

&
&

o'lo'l

)
)
)
)

(J'I(J'I

)
)
)
)

[

y

I

if((a=7 IF3N-=CA)Xmi[4]_me4]+y[il]

If((a=7)&&(((1-)}=4)I((1-)=(-3)))mES]_mef5]+y[i]
ifUa=7)&&((()=5) -2))))(mt{6]_mt[6]+y[i]
ifl(a=7)&&(((1-))=6) Jmil7]_me[7}+y[i]

}
}

sdl_stdev(y)

sy_sum(y)
sc_(syA2)l(a*h)

& )&
((-)=3)lI((1-5)=(-4
((-)=4)I-p)=(-3

(
[

_— — — ~—m —/— ~—

)&
)&&(((i-)=3)
)&&(((1-)=4)
)&&( ()=
J&&(((=6)[[((-)=()

Yy IYR
ss_sum(yy)

st_sum(mtA2)/a
sbr 0

sbrr 0
for(i in L:3)
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for(j in L:b)

{
J

sbr_sbr+(sbrr)

sbrT_0

}

sbr_sbr/b

sbrr_sbrr+y[ij]

she 0
sbee 0
for(j in :h)
{
for(i in I:a)
{
sbee_sheetyif]
}
she_she+(sheeA)
shee 0

)

sbe_ belp

SSt_s-sc

sstr_st-sc

ssbr_sbr-sc

sshe_she-sc
sser.Isal_sst-sstr-ssbr-sshe

vir_(p-I)

ver.Isd_(p-1)*(p-2)
mstr_sstr/vir

mser. Isdsser. Isd/ver.Isd
f.lsd_mstr/mser.Isd
flsd_round(f.Isd,dig=5)
flsd
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('k

}
(*

p.value.Isd[ ,I]_round(l-pf(f.Iscl.vtr,ver.lsd) dig=5)
p.value.lsd

ver.rchd_(a-2)*(b-1)

msb_sshc/(p-I)

mser.rchd_(msb+((p-1)*mser.Isa))/p
f.rchd_mstr/mser.rchd

f.rchd_round(f.rebd,dig=5)

f.rchd

p.value.rebat I]_round( L-pf(f.rcbd.vir, ver.rcbd),dig=5)
p.value.rchd

# Compute proportion p-value of RCBD at 0.05

count.rehd. ro.05_ifelse(p.value.rchd<=0.05,1,0)
sum.rchd.pvalue0.05_sum(count.rchd.f0.05)

sum.rchd. pvalue0.05
prob.rebd.f0.05_round(sum.rchd.pvalued.05/loops,dig=5)
prob.rcbd.f0.05

# Compute proportion p-value of LSD at 0.05

count.lsd.f0.05_ifelse(p.value.Isd<=0.05,1,0)
sum.Isd.pvalue0.05_sum(count.lsd.f0.05)
sum.Isd.pvalue0.05

prob. Isd.f0.05_round(sum.Isd.pvalue0.05/loops,dig=5)
prob.Isd.f0.05

# Compute proportion p-value of RCBD at 0.01

count.rcbd. fDOI_ifelse(p.value.rehd<=0.01,1,0)
sum.rchd.pvalue0.0lsum(count.rchd.f0.0l)
sum.rcbd.pvalue0.01

prob. rebd. f0.01_round(sum.rebd.pvalue0.01/1oops,dig=5)
prob. reha. fo. 01
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# Compute proportion p-value of LSD at 0.01
count.Isd.f0.01_ifelse(p. value.lsd<=0.01,1,0)
sum.Isd.pvalue0.01_sum(count.Isd.ro.02)
sum.Isd.pvalue0.01
prob.Isd.f0.01_round(sum.lsd.pvalue0.0L/loops,dig=5)
prob.Isa.f0.01

(* 1*)
0 866
seu 1576
strl 165
srchd seu
slsd_seu
si 1str
if(a=3)((sL_s11)&( 12_1.25*s 11)&( 13 1.5%s11)&(costtr_b*(s11-si 2-5 13)))
if(a=5)((sll_sll)&(sl2_1.25*sI)&(sI3_1.5%*sI1)&(s14_1.75*sIU&(sI5_2*sll)&(costtr_b*(sIH
12+513+514+515)))
ififa—7)((s1_sl 1)&( 12 1.25* 11)&(sI3 1.5%sI )& (s14_I."5*sl 1)&1 15 2* H)&tslo 2.25*
1)&( 17 2.5*s 11)&(costtr b*( 11+s 1245 13+5 14+5 15+516-5 17)))

ifa—3)(s2_ 135 1)
if(a=5)(s2_ 15l 1)
if(a=7)(s2_ 17-sll)

# Compute expectation cost of RCBD
crebd L sO+(a*b*srchd)+costtr+(a*b*s2)
crehd2_sO+(a*h*sreha)+costtr
elrchd.05_((crebd L*prob.rebd. {0.05)+(crcbd2*( 1-prob.rehd.f0.05)))
e lrcbd.ol_((crehd L*prob.rehd.f0.02)+(crcbd2*( 1-prob.rehd.fD.01)))
elrchd.05
elrchd.ol

# Compute expectation cost of RCBD
clsdl_s0+(a*b*slsd)+costtr+(a*b1,s2)
clsd2_s0+(a*h*slsd)+costtr
ellsd.05_((clsdl*prob.lsd.f0.05)+(clsd2*(I-prob.Isd.r0.05)))



ellsd.ol_((clsd I*prob.Isd.fD.02)+(clsd2*( 1-prob.Isd.f0.01)))

ellsd.05
el lsd.ol

0_866
seu 1576
str_3359

0 866
seu 4709
strl 165

0 866
seu 4709
str 3359

02010
seu 1576
strl 165

02010
seu 1576
str 3359

2%)

4%)

5 %)



(* 7*)
02010
seu 4709
strl 165

(*

(* %)
0 2010
seu 4709
str_3359

(*
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a3
b3
p3
0
sd 5
d |
loops_1000

# Keep p- value of LSD and RCBD
p.value.rchd_array( Him=c(l,loops))
p.value. Isd array( ,dim=c(1loops))

# Determine treatment
Ift(a==3)&&(sd=5))blocke_array(c(-5.303,0.000,5.303),dim=c(a))
if((a=3)&&(sd=10))blockc_array(c(-10.607,0.000,10.607),dim=c(a))

if{(a=3)&&(sd=15))blockc_array(c(-15.90,0.000,15.910),dim=c(a))

If((a=3)&&(sd=5))blockr_array(c(-5.303,0.000,5.303),dim=c(a))
If((a=3)& & (sd=10))blockr array(c(-10.607,0.000,10.607),dim=c(a))
I((a=3)&&(sd=15))blockr_array(c(-15.910,0.000,15.910),dim=c(a))

If((a=3)&&(sd=5)&&(d=1))tr_array(c(-2.6,0,2.6),dim=c(a))
If((a=5)&&(sd=5)&&(d=I))tr_array(c(-1.875,-1.875,0,1.875,1.875),dim=c(a))
If((a=7)&&(sd=5)&&(d=I))tr_array(c(-1.5,-1.5,-15,0,1.5,1.5,1.5),dim=c(a))

if((a=3)&&(sd=10)&&(d=1))tr_array(c(-5.2,0,5.2),dim=c(a))
If((2==5)&&(sd=10)&&(d==I))tr_array(c(-3.75,-3.75,0,3.75,3.75),dim=c(a))
If((a=7)&&(sd==10)&&(d==I))tr array(c(-3,-3,-3,0,3,3,3),dim=c(a))

8=3)&&(s0=5)&&(d=2))tr_array(c(-8,0,8),dim=c(a))
a=5)&&(s0=5)&&(d=2))tr_array(c(-5.625,-5.625,0,5.625,5.625),dim=c(a))
a=7

If((a=3)& & (s0=10)&&(d=2))tr _array(c(-16,0,16),dim=c(a))
if((a=5)& & (sd=10)&&(d=2))tr_array(c(-1 1.25,-11.25,0,11.25,11,25) dim=c(a))

=7)&&(sd=5)&&(d=2))tr_array(c(-4.583,-4.583,-4.583,0,4.583,4.583,4.583),dim=c(a))
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d
If((a==7)&&(sd=10)&&(d=2))tr_array(c(-9.167,-9.167,-9.167,0,9.167,9.167,9.167),dim=c(a))



ift(a=3)& & (sd= 15)&&(d==2))tr_array(c(-24,0,24),dim=c(a))
If((a=5)&&(sd=15)&&(d=2))tr_array(c(-16.875,-16.875,0,16.875,16.875),dim=c(a))

in;(a=7)&&(sd=15)&&(d=2))tr_array(c(-13.75,-13.75,-13.75,0,13.75,13.75,13.75),dim=c(a))

ift(a=3)&&(sd=5)&&(d=3))tr array(c(-13.2,0,13.2),dim=c(a))
ifi((a=5)&&(sd=5)&&(d=3))tr_array(c(-9.375,-9.375,0,9.375,9.375),dim=c(a))
IfT(a=7)&&(s0=5)&&(d=3))tr_array(c(-7.667,-7.667,-7.667,0,7.667,7.667,7.667),dim=c(a))

If{(a=3)&&(sd=10)&&(d—3))tr_array(c(-26.4,0,26.4),dim=c(a))
If((a=5)&&(sd=10)&&(d=3))tr_array(c(-18.75,-18.75,0,18.75,18.75),dim=c(a))

ifUa=7)&&(sd==10)&&(d=3))tr_array(c(-15.333,-15.333,-15.333,0, 15.333, 15.333, 15.333),

dim=c(a))

If((a=3)&&(sd=15)&&(d=3))tr_array(c(-39.6,0,39.6),dim=c(a))
If((a=5)& & (sd=15)&&(d=3))tr_array(c(-28.125,-28.125,0,28.125,28.125),dim=c(a))
If((a=7)&&(s0=15)&&(d=3))tr array(c(-23,-23,-23,0,23,23,23),dim=c(a))

(* *)

+ Compute proportion p-value of RCBD at 0.05
count.rebd.f0.05_ifelse(p. value.rchd<=0.05,1,0)
sum.rchd.pvalue0.05_sum(count.rcbd.f0.05)
prob.rehd.0.05_round(sum.rchd.pvalue0.05/loops,dig=5)
prob.rchd.f0.05

# Compute proportion p-value of LSD at 0.05
count. 1sd.f0.05_ifelse(p.value.lsd<=0.05,L,0)
sum.lsd.pvalue0.05_sum(count.lsd.f0.05)
prob.Isd.fD.05_round(sum.Isd.pvalue0.05/loaps,dig=5)
prob.Isd.fD.05

# Compute proportion p-value of RCBD at 0.01
count.rehd.fD.01_ifelse(p. value.rchd<=0.01,1,0)
sum.rcbd.pvalueO.Olsum(count.rchd.f0.0l)
prob.rebd.fl).02_round(sum.rcbd.pvalue0.01/loops,dig=5)
prob.rebd.f0.01

# Compute proportion p-value of LSD at 0.01
count.Isd.f0.01_ifelse(p. value.1sd<=0.01,1,0)
sum. Isd.pvalue0.01_sum(count.Isd. 10.02)
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prob.Isd.f0.01_round(sum.Isd.pvalue0.01/loops,dig=5)
prob.lsd.f0.0l

(* *)
(* 1*)
0_866
seu 1576
strl 165
3724
srchd seu
slsd_seu
Si | str
if(a— 3)((s 11 10&( 12 1.5*s11)&( 13 1 5*s11)&(costtr h*(s11+s12+513))
if(a=5)((sl _sl 1)&(sl2_1.25%sI 1)&(sI3_1.5%*s 1)&(sl4 1.75*sI 1)&(sI5_2*sl I)&(costtr_b*(sl 1+
s12+sl3+sl4+s15)))
if(@=7)((s L1_sl )&(s12_1.25%sI )&(sI3_1.5*sl )& (sI4_1.75*sl 1)&( 15 2* ! 1)&( 16 2.25*
Si &(s17_2.5%sl &(costtr_b*(sl L+s12+s13+s14+s15+s16+517)))

# Compute expectation cost of RCBD
crehdl_sO+(a*b*srehd)+costtr+(a*h*s3)
crebd2_sO+(a*h*srehd)+costtr
elrebd.05_((crebd2*prob.rebd.fD.05)+(crehdl*(I-prob.rebd.fD.05))
elrchd.01 ((crebd2*prob.rehd.fD.01)+(crebal *(1-prob.rehd.ro.01)))

# Compute expectation cost of LSD
clsdl_s0+(a*h*slsd)+costtr+(a*h*s3)
clsd2_sO+(a*b*slsd)+costtr
el1sd.05_((clsd2*prob.Isd.ro.05)+(clsdl*(I-prob.lsd.ro.05)))
ellsd.ol_((clsd2*prob.Isd.ro.02)+(clsd 1*( 1-prob.Isd.ro.01)))

(* 2%)
0 866
seu 1576
strl 165
3 1925

(* ")



(*
0_866
seu 1576
str 3359
3724

('k

( *
0 866
seu 1576
str 3359
31925

('k

( *
0_866
seu 4709
str_| 165
314

(*

( *
0 866
seu 4709
strl 165
31925

(*

( *
0 866
seu 4709
str 3359
37124

(*

4%)

5 %)
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( *
0 866
seu 4709
str 3359
531925

(*

(-k
0 2010
seu 1576
strl 165
3 724

(*

02010
seu 1576
strl 165

31925

(*
(*

02010
seu 1576
str_3359

3724

('k
(*

02010
seu 1576
str 3359

3 1925

('k

10%)

1n*)

12+)
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(-k
02010
seu 4709
strl 165
3724

(*

( *
02010
seu 4709
str 1165
3195

(*

( *
02010
seu_4"09
str 3359
3724

('k

( *
0 2010
seu 4709
str_3359
3 1925

(*

13%)

14%)

15%)

16%)
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10 .. 2522
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